

TO VALIDATE, GO TO Certificate Number : GI-COO-55331-67641f6329784 **VERIFY.FTGS.US** Date : December 19, 2024

		00.00	December 19, 202	4	
Seller (Exporter) Healthy Green Life Corporation	Transport Ty Vessel	pe	Port of Loading LOS ANGELES		
43 Corporate Park Irvine CA USA	Destination C China	Destination Country China		Destination Port TianjinXingang	
Consignee	Export Date 2024-11-25		Exporting Car N/A	rier	
INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permi N/A	it Number	Bill of Lading 4014106194		
INNER MONGOLIA, 011500 China	Owner or Age N/A	ent	Forwarding A N/A	gent	
Buyer (Importer) INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Remarks Total: 1,550 Total: 677.3				
Description (May include notes on Quantity, Item Number, Marks and Numb	ers Kind of Package		Weight	Country of Origin	
Alfalfa Hay			23.052mt	United States	
Marks: EGHU9310376 52bales					
Alfalfa Hay			22.78mt	United States	
Marks: EISU8225976 52bales					
Alfalfa Hay			22.371mt	United States	
Marks: EMCU8817144 51bales			22.208mt	United States	
Alfalfa Hay Marks: EMCU8579339 52bales			22.200111	United States	
Alfalfa Hay			22.698mt	United States	
Marks: TXGU5570792 52bales					
Alfalfa Hay			22.798mt	United States	
Marks: TGBU6287531 52bales					
Alfalfa Hay			23.297mt	United States	
Marks: EITU9197975 52bales					
Name of Authorized Trade Association		 The above-mentioned goods orig applicable in the country(les) to th -The information in this certificate accurate, true and complete. The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or cha -The Applicant will maintain, and p truth, accuracy and completeness -In consideration for the GIC's issue 	inate in the country(ies) specif ose goods. and in any documents provide se GIC and any other person(s) cate is provided to with the kno inge in such information, or in i resent upon request, such doc of this certificate and accomp ance of this Certificate, the Ap connection with the issuance o s made against GIC in connecti	umentation as is necessary to verify the anying documents. plicant agrees to release, discharge and hold f this certificate and to indemnify GIC in on herewith.	



TO VALIDATE, GO TO Certificate Number : GI-COO-55331-67641f6329784 VERIFY.FTGS.US Date : December 19, 2024

	VENIF1.F103.03 December 19, 2024					
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel		Port of Loading LOS ANGELES			
43 Corporate Park Irvine CA USA	Destination Country China	Destination TianjinXing				
Consignee	Export Date 2024-11-25	Exporting Ca N/A	arrier			
INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permit Number N/A	Bill of Ladin 401410619				
INNER MONGOLIA, 011500 China	Owner or Agent N/A	Forwarding N/A	Agent			
Buyer (Importer) INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Remarks Total: 1,550bales Total: 677.398mt	Total: 1,550bales				
Description (May include notes on Quantity, Item Number, Marks and Num	bers, Kind of Packages.)	Weight	Country of Origin			
Alfalfa Hay		22.253mt	United States			
Marks: EMCU9921791 50bales Alfalfa Hay Marks: TRHU7134016 52bales		22.807mt	United States			
Alfalfa Hay Marks: EMCU8475910 52bales		23.351mt	United States			
Alfalfa Hay Marks: TLLU5844510 51bales		22.625mt	United States			
Alfalfa Hay Marks: TCNU2261610 50bales		22.344mt	United States			
Alfalfa Hay Marks: EGHU9374508 52bales		22.87mt	United States			
Alfalfa Hay Marks: FFAU1266750 52bales		22.934mt	United States			
Name of Authorized Trade Association	- The above-mention applicable in the cc - The information in accurate, true and - The Applicant und Certificate (or to w of any inaccuracy, - The Applicant will truth, accuracy and - In consideration fit harmless GIC from respect of any cos	puntry(ies) to those goods. this certificate and in any documents provid complete. ertakes to advise GIC and any other person(hom the Certificate is provided to with the kr omission or change in such information, or in maintain, and present upon request, such do completeness of this certificate and accom	ified above and comply with the rules of origin led to the Greater Irvine Chamber ("GIC") is s) to whom the applicant provides this isowledge of the Applicant) promptly in writing the origin of goods. cumentation as is necessary to verify the panying documents. pplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in tion herewith.			



TO VALIDATE, GO TO Certificate Number : GI-COO-55331-67641f6329784 VERIFY.FTGS.US Date : December 19, 2024

	VENIFT.F103.03 December 19, 2024					
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel		Port of Loading LOS ANGELES			
43 Corporate Park Irvine CA USA	Destination Country China		Destination TianjinXing			
Consignee	Export Date 2024-11-25		Exporting Ca N/A	arrier		
INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permit Number N/A		Bill of Ladin 401410619			
INNER MONGOLIA, 011500 China	Owner or Agent N/A		Forwarding . N/A	Agent		
Buyer (Importer) INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Remarks Total: 1,550bales Total: 677.398mt	Total: 1,550bales				
Description (May include notes on Quantity, Item Number, Marks and Num	obers Kind of Packages)		Weight	Country of Origin		
Alfalfa Hay		22.7	78mt	United States		
Marks: TRHU5850794 52bales Alfalfa Hay Marks: TLLU5855303 52bales		22.6	68mt	United States		
Alfalfa Hay Marks: TGBU9914506 52bales Alfalfa Hay			888mt 097mt	United States United States		
Marks: EGHU9714763 52bales Alfalfa Hay Marks: CAAU5500137 52bales		22.8	879mt	United States		
Alfalfa Hay Marks: TLLU4776391 50bales		22.4	489mt	United States		
Alfalfa Hay Marks: EGSU9356010 50bales		22.5	571mt	United States		
Name of Authorized Trade Association	- The above applicable in - The inform accurate, tru - The Applica Certificate (of any inacc - The Applica truth, accura - In consider harmless GI respect of a	mentioned goods originate in t the country(les) to those goou- tion in this certificate and in a le and complete. Int undertakes to advise GIC ar or to whom the Certificate is pu- uracy, omission or change in s unt will maintain, and present u locy and completeness of this c ation for the GIC's issuance of	the country(ies) spec ds. ny documents provid nd any other person(s rovided to with the kr such information, or in ppon request, such do certificate and accom this Certificate, the A on with the issuance against GIC in connect	cumentation as is necessary to verify the panying documents. pplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in tion herewith.		



TO VALIDATE, GO TO Certificate Number : GI-COO-55331-67641f6329784 VERIFY.FTGS.US Date: December 19, 2024

	VERIFT.F165.05 December 19, 2024				
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel		Port of Loading LOS ANGELES		
43 Corporate Park Irvine CA USA	Destination Country China		Destination Port TianjinXingang		
Consignee	Export Date 2024-11-25	Exporting Ca N/A	arrier		
INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permit Number N/A	Bill of Ladin 401410619			
INNER MONGOLIA, 011500 China	Owner or Agent N/A	Forwarding / N/A	Agent		
Buyer (Importer) INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Remarks Total: 1,550bales Total: 677.398mt				
Description (May include notes on Quantity, Item Number, Marks and Numb	ers Kind of Packages)	Weight	Country of Origin		
Alfalfa Hay	ero, kina or r dokageo.)	22.38mt	United States		
Marks: EITU1750148 52bales Alfalfa Hay Marks: EISU8278019 52bales		22.48mt	United States		
Alfalfa Hay Marks: EGHU9274005 52bales		22.199mt	United States		
Alfalfa Hay Marks: TGBU6942063 52bales		22.208mt	United States		
Alfalfa Hay Marks: EGSU9355707 52bales		22.253mt	United States		
Alfalfa Hay Marks: EISU8205476 52bales		22.752mt	United States		
Alfalfa Hay Marks: EISU8538477 52bales		21.274mt	United States		
Name of Authorized Trade Association	- The above-mentione applicable in the cour - The information in th accurate, true and coo - The Applicant undert Certificate (or to who of any inaccuracy, om - The Applicant will ma truth, accuracy and co - In consideration for t harmless GIC from ar respect of any costs a	htty(ies) to those goods. is certificate and in any documents provid mplete. akes to advise GIC and any other person(s m the Certificate is provided to with the kn ission or change in such information, or in aintain, and present upon request, such do mpleteness of this certificate and accom	fied above and comply with the rules of origi ed to the Greater Irvine Chamber ("GIC") is) to whom the applicant provides this owledge of the Applicant) promptly in writing the origin of goods. cumentation as is necessary to verify the panying documents. pplicant agrees to release, discharge and hol of this certificate and to indemnify GIC in tion herewith.		



TO VALIDATE, GO TO Certificate Number : GI-COO-55331-67641f6329784 VERIFY.FTGS.US Date : December 19, 2024

	Attent					
Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Typ Vessel	De		Port of Loading LOS ANGELES		
Irvine CA USA	Destination C China	country	X / / [27] / / XX	ination Por njinXingang		
Consignee INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500	Export Date 2024-11-25		Expo N/A	orting Carrie	r	
	Import Permi N/A	t Number	Bill o 401	of Lading / / 410619412	AWB 2	
China	Owner or Age N/A	ent	Forw N/A	varding Age	nt	
Buyer (Importer) INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Remarks Total: 1,550t Total: 677.35	pales 98mt				
Description (May include notes on Quantity, Item Number, Marks and Numbers, I	Kind of Package	s.)	Weig	jht	Country of Origin	
Alfalfa Hay Marks: CAAU5422224 52bales			21.945mt		United States	
Alfalfa Hay			22.135mt		United States	
Marks: EGSU1027379 52bales						
end of products						
Name of Authorized Trade Association		applicable in the country(ies) to the -The information in this certificate is accurate, true and complete. -The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or chan- The Applicant will maintain, and pr truth, accuracy and completeness of -In consideration for the GIC's issue	nate in the country use goods. and in any docume e GIC and any othe ate is provided to ' nge in such inform "esent upon reque: of this certificate a ance of this certificate onnection with the made against GIC	y(ies) specified a ents provided to er person(s) to v with the knowle hation, or in the st, such docume and accompanyi icate, the Applici e issuance of thi i n connection h	above and comply with the rules of origin the Greater Irvine Chamber ("GIC") is whom the applicant provides this dge of the Applicant) promptly in writing origin of goods. Intation as is necessary to verify the ng documents. ant agrees to release, discharge and hold s certificate and to indemnify GIC in	

Booking Document - HayCloud.com

Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

COMMERCI	AL INVOI	CE			Invoice No. Date:	BH-202411004 10/17/24	
Shipper/Exporter: Healthy Green Life (1152 S Roughcut Di Casa Grande, AZ 85	Corp r			Consignee: INNER MONGOLIA BEST HOLSTEINS CO.,LTD HUTONGTU VILLAGE, SHENGLE TOWN, HELINGEER COUNTY, INNER MONGOLIA			
Vessel:	EVER MILD			Contract No.:	BH-HGLC2024-7		
Voyage No.:	1374-001W			Booking No.:	401410619412		
Shipping Line:	Evergreen			Country of Origin:	USA		
Port of Loading:	LOS ANGELE	ES, CA		Discharge:	TianjinXingang, China		
ETD:	11/25/24			ETA:	12/28/24		
Price Terms:	CIF						
Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)	
CAAU5422224	A1621635	Alfalfa Supremi	52	21.945	\$395.00	\$8,668.2	

1						
CAAU5422224	A1621635	Alfalfa Supremi	52	21.945	\$395.00	\$8,668.27
CAAU5500137	A1621587	Alfalfa Supremi	52	22.879	\$395.00	\$9,037.20
EGHU9274005	A1621597	Alfalfa Supremi	52	22.199	\$395.00	\$8,768.61
EGHU9310376	A1621523	Alfalfa Supremi	52	23.052	\$395.00	\$9,105.54
EGHU9374508	A1621549	Alfalfa Supremi	52	22.870	\$395.00	\$9,033.65
EGHU9714763	A1621589	Alfalfa Supremi	52	23.097	\$395.00	\$9,123.32
EGSU1027379	A1621634	Alfalfa Supremi	52	22.135	\$395.00	\$8,743.33
EGSU9355707	A1621593	Alfalfa Supremi	52	22.253	\$395.00	\$8,789.93
EGSU9356010	A1621584	Alfalfa Supremi	50	22.571	\$395.00	\$8,915.55
EISU8205476	A1621591	Alfalfa Supremi	52	22.752	\$395.00	\$8,987.04
EISU8225976	A1621522	Alfalfa Supremi	52	22.780	\$395.00	\$8,998.10
EISU8278019	A1621600	Alfalfa Supremi	52	22.480	\$395.00	\$8,879.60
EISU8538477	A1621636	Alfalfa Supremi	52	21.274	\$395.00	\$8,403.23
EITU1750148	A1621581	Alfalfa Supremi	52	22.380	\$395.00	\$8,840.10
EITU9197975	A1621721	Alfalfa Supremi	52	23.297	\$395.00	\$9,202.32
EMCU8475910	A1621534	Alfalfa Supremi	52	23.351	\$395.00	\$9,223.65
EMCU8579339	A1621725	Alfalfa Supremi	52	22.208	\$395.00	\$8,772.16
EMCU8817144	A1621726	Alfalfa Supremi	51	22.371	\$395.00	\$8,836.55
EMCU9921791	A1621540	Alfalfa Supremi	50	22.253	\$395.00	\$8,789.93
FFAU1266750	A1621548	Alfalfa Supremi	52	22.934	\$395.00	\$9,058.93
TCNU2261610	A1621550	Alfalfa Supremi	50	22.344	\$395.00	\$8,825.88
TGBU6287531	A1621722	Alfalfa Supremi	52	22.798	\$395.00	\$9,005.21
TGBU6942063	A1621594	Alfalfa Supremi	52	22.208	\$395.00	\$8,772.16
TGBU9914506	A1621590	Alfalfa Supremi	52	22.888	\$395.00	\$9,040.76
TLLU4776391	A1621583	Alfalfa Supremi	50	22.489	\$395.00	\$8,883.16
TELU5844510	A16215 31	Alfalfa Supremi	51	22.625	\$395.00	\$8,936.88
TLU5855303	1621541	Alfalfa Supremi	52	22.680	\$395.00	\$8,958.60
TRHU5850794	A1621546	Attalfa Supremi	52	22.780	\$395.00	\$8,998.10

https://www.haycloud.com/popups/popdoc.aspx?action=new&mode=view&from=booking&bookingid=82987&ran=611615

Booking Document - HayCloud.com

Total Value:	-		1,550	677.398		\$267,572.23
TXGU5570792	A1621724	Alfalfa Supremi	52	22.698	\$395.00	\$8,965.71
TRHU7134016	A1621535	Alfalfa Supremi	52	22.807	\$395.00	\$9,008.76

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

By Healthy Green Life Corporation

AUTHORIZED SIGNATURE



2024

